CP Algebra 2 Name:

Practice Graphing Date: - Block:

Rewrite the following functions in standard form.
1 fx)y=(x-3)(x+4) 2. flx)=(x+2)?*-3 3. f(x)=2x(x—-1)
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Rewrite the following functions in vertex form,
4. f(x)=x*—2x—8 5 f(x) =(x+3)(x—1) 6. fFlXy=x?+4x-1
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Rewrite the following functions in intercept form.
7. f(x)=(x+2)2-9 8. f(x) =x*—3x—18 9, f(x) =x®*+6x+8
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Graph and determine the characteristics of the following quadratics.
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11.) flx)=—-x?+2x+1

ADS: A = |

Vertex: 1 |, &}

Y-Intercept:
]

Range:

12.) flx)= (x+2)*~3
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Vertex:

Y-Intercept:
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Vertex:

Y-Intercept:
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4)  f@)=(x-1)E+3)
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15.) f(x) =0+ 2)(x—2)

AQS:

Vertex: - b
Y-Intercept: = b

Domain:

Range:
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